Subtraction Word Problems
a) Yesterday 4672 people visited the steam engine museum. 2585 of them were children. How many were adults?






b) There were 70,059 spectators at the Twickenham rugby stadium to watch the opening ceremony of the Rugby World Cup. 5,724 were children. How many adults were there? 







c) Mrs Lewis won a huge jar of Percy Pigs sweets. The jar contained 5000 Percy Pigs. She gave 350 Percy Pigs to her friend, Mr Khalsa. After a month of snacking off the jar, she counts the number of remaining Percy Pigs. She counts 187. How many sweets did Mrs Lewis eat over that month?







d) A flight to Sydney costs £1,200 on British Airways.  Staff (those that work for the airline) get cheaper tickets and only have to pay £399. How much cheaper is it for staff to travel?






e) [bookmark: _GoBack]Some cases of chocolate accidentally fell off one of its delivery trucks. The truck driver looked at the cargo chart and it indicated that the truck started in London with 496 cases of chocolate. The truck driver successfully delivered 112 cases of chocolate in Birmingham and 74 cases in Manchester. The remaining cases of chocolate are missing. How many cases of chocolate fell off the truck?
